Y4 de finale Y2 finale finale Classement
|| || ||
Latour Stéphane pecy 13 I_
| Dubreuil Hervé  fert 13 [
|Dubreui| Hervé fert 13 IT
| Latour Joy pecy 14 [
Bailly Laurent gris 13 I_
| Latour Joy pecy 14 [
Latour Joy pecy 14 [
‘ Dubreuil Hugo fert 14
Dubreuil Hugo fert 14 IT
| Dubreuil Hugo  fert 14 [
Cande Arnaud gris 11 I_
| Dubreuil Hugo  fert 14 [
Latour Joy pecy 14
|Bouvier David mour 11 I_
‘ Virgitti Olivier  voin 14 I_
Virgitti Olivier  voin 14 IT Dubreuil Hervé fert 13 I_
‘ Virgitti Olivier  voin 14
Virgitti Olivier  voin 14 IT
0 Dubreuil Hervé fert 13
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